iy

By

g

A7



(&) : 2
Avga
2
oguey |1 B 2y
T o | F

16,404,577 | 16,559,667 ~155,090

10,235,977 | 8,171,600 2,064,377

4,141,287 | 2,076,910 2,064,377

4,141,287 2,076,910 2,064,377

4(4,141,287,0008x141)-7|14(2,076,910,000&€x14)= 2,064,377

4,141,287 2,076,910 2,064,377

-373-




| SIS ] (eol - el)
A2 ¥ SEAD HE 2HAU0E B e HAUS
I sy | B =y
Z % N = of At of
100 A= 4¢ 6,168,600 8,388,067 | A2,219,467
180 RFEAZ 0 2,219,467 | A2,219,467
181 &=MAYAHZ 0 2,219,467 | 212,219,467
01 #=MAYNZ 0 2,219,467 | 12,219,467
OTMAYNHZ AE0H)-714(2,219,467,309x14)= 12,219,467
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A| &0l £t A

[ dotrAlg 4 ]

0?_%1 ALol4l @202 R @ 2HE(6), Motrk -2 (he] + 1)
OWHAIY | LT HE(AY) OTIQIAIY I H4E SAT2IAY) OMTAY  44EAIM 2F B2l @2 : Q|
. 71 4
T2, 202, F3ALY, T A MEANY, S M= off 4t of of At of =4
2 A 16,404,577 | 16,559,667 A155,090
LA 2H & 155,090
ARSI Of| At 4,726,258 5,123,667 £~397,409
ALK& £~397,409
2t (6)/ 45t A 2,620,810 2,854,000 233,190
ApH|2H 2 ~233,190
A 22| (AHY) 2,620,810 2,854,000 £~233,190
ALK& £~233,190
S RA|E2|(AY) 2,620,810 2,804,000 A183,190
| 242 A183,190
HrTAld 29 &e 1,416,780 1,551,970 135,190
|21 A135,190
101 Q| 28,250 40,500 A12,250
| 21 2 A12,250
04 7|ZHHZE2ASES 28,250 40,500 A12,250
oYt Q1R
27(8,000,0002x191)-7|3(15,000,0008x191)= A7,000
2|2 4 7,000
OMTERIAEE FHYH| RY
27 (135,0009x7570Ax23])-7| 2 (170,000 x757H 4x23])= 25,250
AHA| 2 A A5,250
201 YUEH2IH| 441,070 463,510 ~22,440
AHA| 21 N22,440
01 AtF2z|y| 83,550 77,430 6,120
OMFE AFERZ 1AM A2
H2(60,0009x128FAx128)-7]4(1,200,0002x12¢)= A5,760
ALA| 2 A5,760
OAHHURE 213 Axt|
2724(990,0009x122)-7|1% (0¥)= 11,880
ALA| 2 11,880
11 2GR 83,900 85,100 A 1,200
OXEIIE JHUH 47
H2(100,00094x129)-71% (200,0009x12¢)= 21,200
ALA| 2 A1,200
21 332z LANM 115,280 142,640 A27,360
OMTEALER N2N YE 2HRF
A (3809x7,0007Ix122)-7| A (3802x13,00074x12¢)= 227,360
ALA| A A n~27,360
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[ datrAlg 4 ]

0721 AROILt @EOIER 1 B (6), Mot E 4 (9] - 22l
OHUAY I HHEH2|(AY) OTIAAY I M4 RAVRI(AR) OMBAIY : ASEAIM 2% 22| 02 : 52|
. 71 3
T2, 202, ALY, T A MEANY, S M= off 4 o4 of Ak of s
215 SaH| 720,300 820,800 A100,500
A 242 A100,500
00 S| 720,300 820,800 A100,500
ozl d7|=
22(166,500,0002%3714)-7] (200,000,000 x37H4)= A100,500
2|21 A100,500
PNES == R 572,000 600,000 228,000
2| A1 228,000
214 £MKQ2| Y| 572,000 600,000 28,000
A 242 28,000
05 +MRA|H| 572,000 600,000 28,000
O+ U2 0EE 2 THE ALY
273(72,000,00094x141)-7|2(100,000,0002x 14Al)= 28,000
2|14 28,000
A C A 22|24 (ALY 632,030 652,030 20,000
2L AN 220,000
101 Q7| 25,000 45,000 20,000
2|21 220,000
04 71ZHRRAIEES 25,000 45,000 20,000
O Y223 Q1|
Z27(25,000,000x121)-7|2 (45,000,000&x1¢Q)= 120,000
24|21 220,000
2] 2| (AR 0 50,000 A50,000
2H4| 21 A50,000
Holle2] A0 (AFR) 0 50,000 A50,000
2L AN 50,000
214 AMQ2| DAY 0 50,000 A50,000
244|211 50,000
05 £MFA|H| 0 50,000 A50,000
OYLF Y FH 2t YH ALY
A3 (09)-7|%(50,000,000&x 141)= 50,000
AHA| 2 A 50,000
AUBLZ 2 (4) /LB 2,105,448 2,269,667 A164,219
2 AN A164,219
Y2 EH| 2,105,448 2,269,667 A164,219
A A164,219
01242 H| 2,089,628 2,253,847 A164,219
2L AN A164,219
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TEARION @ROMES : AT THY (), st
UMY YH2HYH OTISIAY 1 UYL OMRAIY QA2 YH 0%

il
{0
e
rio

7 3

T2, 20FFE, ALY, T A MR ALY, S M= Off & o of Ab o g4
olzd 29| 2,089,628 2,253,847 A164,219
AFA| A2 A164,219
101 QlAH| 2,060,828 2,225,047 ~164,219
2L AN A164,219
01 24 821,911 872,063 A50,152
osz 230,885
OYHkz2 £A30,885
- 5%
Z24(6,700,00094x12Ix12¢)-7|14 (7,524,583 2% 12Ix128)= 19,895
2|24 A9,895
- 63
Z23(4,096,4002x52x12¥)-7|4 (4,146,600 ¥x5QIx12¢)= A3,012
AHR| A2 A3,012
-7=
ZA72(2,950,900x22Ix122)-7|12(3,033,00024x22Ix 128)= 21,970
2| A A1,970
-89
24(2,190,8009x421x12¢)-7|4 (2,408,800 x421x128)= 210,464
|21 A10,464
- 9%
AH(2,170,00024x32Ix122)-7|4(2,324,00024x32Ix 122)= N5,544
2|21 A5,544
oag AN12,142
OAZte|2R4g
ZAH(10,841x1491x400A|ZH-712(10,84121x14Q01x480A|ZH= N~12,142
ARA| 2 2 A12,142
OA7HE 4
Z%(440,170,0008x1/24)-714(611,170,000x1/24)= N7,125
2212 N7,125
02 7|EfRE4 983,222 1,072,628 189,406
OMAE AR 89,406
o= =)
4%(3,720,000x1321x12&)-7]4(3,720,7009x15QIx128)= A 89,406
ARA| 24 2 189,406
03 SI|HA222tE 4 255,695 280,356 A24,661
oYLz 424,661
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[ datrAlga ]

O Ao @ZOFREE : YB3 ZEHHE(4), Yurdy Chol « 249
OUHAY  HHRHZH| @THRIAIRY : QH2FH| @MTAY Q¥R ZH @3 : it (Gl -
H YHoleH O 2= Clo = =2 M= Al O 7|2-°i = 7
T, EORLE AR, TOIAIY MR AN, 2 M2 Of A | o ar o 2

o’12g
B3(2,124,760x5Ix12¥)-718(2,324,7604x521x12¢)=

L

OAIZtRl+d
Z273(14,068x521x360A|12kx150%)- 717 (14,068 x5Ix480A12tx150%

23|24l

A12,000
212,000

AN 12,661
N12,661
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—_Er’AZP%OEII*J O 202 Z : 8t (6), Motk -E (he] + 9
HAAY e 2|(RIE) OTHRIAIY I Ak KA (AIE) OMPAIY  H4-EAd RABS(AIE) @5 AMH|ZLR O]
, 7| &
T2, 202, ALY, T A MEANY, S M= Of AF o4 of Ak o s
ol &t 11,678,319 11,436,000 242,319
A A 242,319
et (6)/ 45t -2 11,678,319 | 11,436,000 242,319
AL 2H < 242,319
SLae(2t2) 11,678,287 | 11,436,000 242,287
A A 242,287
MEE Q2|22|(RH) 9,378,287 8,936,000 442,287
At 21 A 442,287
AL C AN Q2|4 (RHE) 2,034,287 1,620,000 414,287
AHA| 21 414,287
401 Al gH|L SO 1,994,287 1,580,000 414,287
AL A2 414,287
01 Al4dH| 1,994,287 1,580,000 414,287
OMBUZ| T 50{ZEFIHLAIY HAHEY
Z274(414,287,00024x14))-2|Z (02)= 414,287
LA A A 414,287
S EE Ty ORI YAY 100,000 72,000 28,000
2L A1 28,000
401 AlgH|LS | 100,000 72,000 28,000
A A 28,000
01 AlZH| 100,000 72,000 28,000
OMLYUES A ZOUR ALY
Z7(100,000,0009x141)-7](72,000,0002x1Al)= 28,000
A|2H 4 28,000
ICTZ|gt 3, FEF 2tYae| QZat 43 1,950,000 0 1,950,000
2oEzz 1,365,000
AHA| 21 585,000
401 A|dH|2 2 CHy| 1,950,000 0 1,950,000
2oEzz 1,365,000
AL A2 585,000
01 AldH| 1,950,000 0 1,950,000
OICT? |8t 2, F3 L] Qmat HX
22(1,950,000,0002x141)-7| A (09)= 1,950,000
2DER2 1,365,000
24|21 585,000
a2 JURALZY 182,000 0 182,000
2ogzz 127,000
213|212 55,000
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O 2 A20|Lt @ZO0FRE : 2tE(6), Mot ~ (el - 29)
HUAY  ASCH(RIE) OUIAY A4 RAL(RAHL) OHPAIY  =FTALBZ HUZA 21 @S 1 AlMH|LLYH|
. 71 4
T2, 202, FHALY, T A MEANY, S M= Off AF 4 of At of =4
401 Al&H|ZECHH| 182,000 0 182,000
2oEz3 127,000
2L A1 55,000
01 AldH| 182,000 0 182,000
oYY =S4+ Z HUZRAL Y
27(182,000,0009x141)-7|% (0)= 182,000
20Ezx3 127,000
A|2H 4 55,000
2|ehAba T SCHSIALY 5,112,000 7,244,000 | ~2,132,000
2OERI A1,492,000
PPN A640,000
403 ZFz|THY S 2H20| A 5,112,000 7,244,000 | £2,132,000
2NHERI 21,492,000
| 21 2 A640,000
02 27|ZSO0||CHEHQ EFAFIH 5,112,000 7,244,000 | ~2,132,000
oYY =AU Z HURAL 2|
HA(09)-712(182,000,000x14)= 182,000
20EZR3 A127,000
2|2 55,000
OICT7|8H 22, | adtate| Qlxet HX|
A (09)-71(1,950,000,0009x14)=  A1,950,000
2DERI 21,365,000
Zp| A A585,000
Huy42| 2a|(ZH2) 1,300,000 1,500,000 £200,000
2|21 £200,000
HH=2| AlEIHM (RE2) 1,300,000 1,500,000 200,000
2L A1 200,000
401 AlgH|LS O 1,300,000 1,500,000 £A200,000
2|21 £200,000
01 Al4H| 1,300,000 1,500,000 A200,000
OYLY - T SHEHHAY
27(50,000,0009x141)-7| % (0Y)= 50,000
ALA| A A 50,000
OMTERIAY =T | WA L JHZALY
Z7(300,000,00094%141)-7| 2 (350,000,0008x 14])= 50,000
24|14 50,000
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[ dotrAlg 4 ]

O AH20jl4t @ZOHRE R 1 B (6), At oA (ol - 2gl)
OYUALY M- HR|(R1E) @TIIAIY : Fbip2| B2 () @MIFAIY @ Fui2] A LTHH(RME) @5 1 Al-H| 2L CHY]
. 71 3
T2, 202, ALY, T A MR ALY, = M= Off 4 o of At of 4
OY LT OtR| oA Y
24(50,000,0002x141)-7]Z(100,000,0008x 14))= A50,000
221 A50,000
OYLFr-Y AEFYLY| EH|
Z7(09)-71(50,000,000x14)= A50,000
2|24 A50,000
ORMY L2 AEEQHH| M3
ZZ(09)-717(100,000,000x 14l)= A100,000
P A100,000
pUI=E-1==4 32 32
ApH|2H 2 32
BHZ|& 32 32
AL 242 32
=it 32 32
A 242 32
802 Btz 7|Et 32 32
AL 242 32
01 ZDEZRIutsZ 32 32
020204 & 257 FOURHAY
ZE(31,4209x14)-71H (0¢)= 32
224 32
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